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.     Starter    .

1) Rotate these Flags 90o anticlockwise about C
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3) Draw these vectors  a) 
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     Label each one

4) Draw the image after reflection 

     in the line.

5) Draw the enlargement given scale factor k = 2.5
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.     Find the Unknown Side    .

Skills: Use the scale factor to find an unknown side length
From the “object” to “image” we MULTIPLY by the scale factor.
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From the “image” to “object” we DIVIDE by the scale factor.

Example:


Find the centre of enlargement C
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Find the scale factor    k = 

Find the unknown 

side lengths
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Eg:

If the angle at P was 88° what will the angle be at P’?

.     Find AREA using scale factor    .

Skills: Find the scale factor and use it to calculate 
areas in enlargements.
The scale factor K (s.f.) is for length


Find the Centre for enlargement

Find the scale factor for length K =



Find length x = _____



Object area = _____



Image area = ______


                                                    


What is the area multiplied by?

                                                        


What will the scale factor for 

                                                         

length be?  K = _____

                                                        


Find the side lengths: 

                                                       


a = ____    b = _____  c = _____     

.     Find VOLUME using scale factor    .

Skills: Find the scale factor and use it to 
calculate volumes in enlargements.
The scale factor K (s.f.) is for length 

   s.f (k) = 



1) The scale factor for length K =

Area is multiplied by?

Volume is multiplied by?

                                                                            What will the scale 

                                                                            factor for length be?  

                                                                            K =                     






























Object Length = 


Image Length = 





Object Area = 


Image Area = 





Object Volume = 


Image Volume = 











To enlarge LENGTH multiply by K


To enlarge AREA multiply by _______





S.F (K) = 





Object Length = 


Image Length = 





Object Area = 


Image Area = 











To enlarge LENGTH multiply by K


To enlarge AREA multiply by _______


To enlarge VOLUME multiply by _______








S.F (K) = _______





u = _____ cm





v = _____ cm





w = _____ cm








S.F (K) = _______





X = _____ cm









































S.F (K) = _______





d = _____ cm





e = _____ cm





f = _____ cm
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